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Ideals for irreducible component#ﬂ)f Xpar

I = (" —u™ 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*?—ur+..- —u+1)

(i) Arc colorings

ud —ul +ut+1 >

a4 =
—u?t +4ut® o+ 2ud —
ao =\ u® —5u?t +.-- —3uS +u
u?t +4ut® + 4 2ud —
ato =\ u® —b5u?t +---—3u’+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4u*0 — 36u3® + 4437 4+ 168130 — 3203 — 516u3* 4+ 136u33 + 1152u3? — 384u3! — 1972030 +
796129 4+ 2700u?® — 1276u>7 — 3092120 + 1648u2° + 3116u>* — 1780u?3 — 2872122 +
1668u2! + 2424420 — 13889 — 183218 + 102007 + 1244416 — 640u'® — 796w+ + 324413 4+
484u'? — 124utt — 256u'0 + 28u” + 112u® + 8u” — 48uS — 20u® + 24u* + 16u> — Su? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cq w2y w1

C2 u? +19u*t 4+ w1
C3,Cy4,C8 u42_’_u41+_._+3u+1

Co

Cs,C7 W utt 12044

c10 u'? +13u™ + -+ 2109u + 283

c11 u =3+ —u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1,C6 y? =19y 4y +1

C2 y42+9y41+_11y+1
C3,C4,C8 y42+49y41++y+1

Cg

Cs, C7 y*2 — 35yt + ... — 328y + 16

10 y*? —19y* + .- — 701527y + 80089

cin yP oyt 4 13Ty + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

—0.958451 4 0.1820271

—1.50976 + 0.224081

—7.80723 — 0.816671

—0.958451 — 0.1820271

—1.50976 — 0.224081

—7.80723 + 0.816671

SRS S

—0.794065 + 0.5583081

8.84617 + 2.252741

4.58162 — 3.467981

~
IS

—0.794065 — 0.5583081

8.84617 — 2.252741

4.58162 + 3.467981

1.059210 + 0.1063321

0.18706 + 2.880661

—2.91592 — 4.703291

1.059210 — 0.1063321

0.18706 — 2.880661

—2.91592 4 4.703291

0.534293 + 0.7619141

13.9445 — 3.92331

5.91216 4+ 2.838131

0.534293 — 0.7619141

13.9445 + 3.92331

5.91216 — 2.838131

0.814354 + 0.4285591

1.05337 — 1.870681

3.39079 + 4.684831

0.814354 — 0.4285591

1.05337 + 1.870681

3.39079 — 4.684831

0.437218 + 0.7939161

13.4042 + 6.95291

5.22220 — 3.156371

IS RS ESE R B -~ E~

0.437218 — 0.7939161

13.4042 — 6.95291

5.22220 + 3.156371

~
IS

—0.510362 4 0.7376231

5.58647 + 2.002521

4.43798 — 4.066461

= —0.510362 — 0.7376231

5.58647 — 2.002521

4.43798 4+ 4.066461

—1.109120 4 0.0927411

8.15110 — 4.898121

—0.84749 + 2.790861

—1.109120 — 0.0927411

8.15110 4 4.898121

—0.84749 — 2.790861

—0.440224 4 0.7676041

5.20119 — 4.760951

3.47757 4 4.705041

—0.440224 — 0.7676041

5.20119 + 4.760951

3.47757 — 4.705041

—1.052970 4 0.4039411

—2.94816 + 1.841551

—7.97014 — 0.120891

—1.052970 — 0.4039411

—2.94816 — 1.841551

—7.97014 + 0.120891

IS RS ESE R B A~

1.079910 + 0.3340441

3.19579 — 0.384961

—4.05769 + 0.708371

~
IS

1.079910 — 0.3340441

3.19579 + 0.384961

—4.05769 — 0.708371

0.460288 + 0.7313141

3.06576 + 1.257331

—0.386808 — 0.2653171

0.460288 — 0.7313141

3.06576 — 1.257331

—0.386808 +- 0.2653171

1.069990 + 0.4540071

—2.58903 — 5.045651

—5.96481 4 8.684411

1.069990 — 0.4540071

—2.58903 + 5.045651

—5.96481 — 8.684411

—1.096730 + 0.4882781

4.21047 + 6.881581

—1.95632 — 6.725721

—1.096730 — 0.4882781

4.21047 — 6.881581

—1.95632 + 6.725721

—1.049770 4 0.6056211

3.98383 + 3.115961

2.01311 — 1.172181

IS RS ESE R B A~

—1.049770 — 0.6056211

3.98383 — 3.115961

2.01311 +1.172181




Solutions to I}

V=1(vol + /=1CS)

Cusp shape

1.042540 + 0.6270341

12.43060 — 1.333791

3.69918 + 2.210031

1.042540 — 0.6270341

12.43060 + 1.333791

3.69918 — 2.210031

1.074510 4 0.5924011

1.24809 — 6.313211

—3.41953 4+ 4.871091

1.074510 — 0.5924011

1.24809 + 6.313211

—3.41953 — 4.871091

—1.091090 + 0.6024671

3.27056 + 9.941531

0.33743 — 9.119481

—1.091090 — 0.6024671

3.27056 — 9.941531

0.33743 4+ 9.119481

1.100260 + 0.6119421

11.4291 — 12.23491

2.31503 + 7.473931

1.100260 — 0.6119421

11.4291 + 12.23491

2.31503 — 7.473931

—0.194284 +- 0.6266831

6.70392 — 2.621741

1.89600 + 2.883221

—0.194284 — 0.6266831

6.70392 + 2.621741

1.89600 — 2.883221

0.124492 + 0.4897481

—0.169198 +- 1.2787501

—1.95713 — 5.544491

u
u
u
u
u
u
u
u
u
u
u
u

0.124492 — 0.4897481

—0.169198 — 1.2787501

—1.95713 + 5.544491




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w4 —u 1
C2 u'? +19u*t o —u 1
C3,C4,C8 u42_|_u41_~_”.+3u_|_1
Co
Cs, C7 W utt - 1204+4
c10 u*? +13u*! + - + 2109u + 283
c11 u? —3utt o —ut1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, Co y? =19y -y +1

€2 y P49yt = 1ly +1
C3,C4,C8 y2 49y oy 41

Co

cs,Cr y*? — 35y + ... — 328y + 16

c10 y*? —19y* 4 .. — 701527y + 80089

ci y Pyt 3Ty 41




